s
B2 (ASR)
224 (e ®d)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
271,870 265,918 5,952
2HZHI(ASH) 83,800 87,808 A4,008
=Ll 83,800 87,808 A4,008
22| 83,800 87,808 24,008
201 Ler2Z| 46,000 47,488 1,488
01 At22teld| 25,500 27,488 1,988
O Le=ZH| 25,500
0 JIZ2AR2ES3HI 100,000& 152! 1,500
0 AFRIDIRHLAR S 8,500,000& 8,500
0 JIEH=2LHI 6,350,000& 6,350
0 SSSEFAAEEFY 150, 000 & *2JH 2 300
0 =2t 50,0002 *121%114 5,700
0 SoHARFEZ A 7,000&*30*15¢! 3,150
02 2222l 20,500 20,000 500
O 2323 % HAl 11,500
0 RERS 1,500,000& 1,500
0 M2 9,000,000 9,000
0 =E2AMASUZ2 1,000,000 1,000
O ¢zl 1,000,000& 1,000
O EAMAIESXIYI 3,000,000& 3,000
O XS 5,000,000 5,000
202 Oib| 37,800 40,320 A2,520
01 =LHGHI 37,800 40,320 A2,520
O Jl2geadot| 200,000 x15Q1x12& 36,000
O 2304l 10,0003 % 15Q1x 123 1,800
Y TR2G(ASH) 10,200 10,240 A0
S 10,200 10,240 A4
A2A 2 10,200 10,240 A0
203 HRF=&H| 10,200 10,240 240
01 J|22IHRF&I| 6,600 6,600 0
O J| 222 =a 6,600,000& 6,600
02 BRIMLIFEIH| 600 640 A0
O FJORIgRFA 40,0003 %15 600
04 EA2ILRFEI 3,000 3,000 0
O 2EA2ggRFA 250,000+ 12& 3,000
&l HY KX 87,870 87,870 0
grE XI&&| 80,370 80,370 0
SclpH 284 80,370 80,370 0
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